Welcome to " El Rey de la Paella Catering "

We included a Salad with Dressing, Dinner Rolls, and a Chef to go make and serve your Paella Dish on our Packages for your convenience

Valencian Paella / Paella Valenciana		
<u>Guests</u>	<u>Price</u>	<u>Total</u>
20	14.95	299
30	13.00	390
40	10.48	419
50	8.98	449
60	8.00	480
70	7.57	530
80	7.00	560
90	6.89	620
100	6.75	675

Our most popular dish! Valencian Paella is a combination of seafood, chicken, chorizo which blends together for a truly unique taste! Contains: Chicken, chorizo, calamari rings, fish, shrimp, mussels, clams, octopus, sweat peas, red peppers, onions, green peppers, and our famous seasoning.

	Farmers Rice Paella/ Paella Campesina		
	<u>Guests</u>	<u>Price</u>	<u>Total</u>
20		14.95	299
30		11.97	359
40		10.23	409
50		8.98	449
60		7.98	479
70		7.13	499
80		6.86	549
90		6.43	579
100		6.39	639

Farmers Rice Paella is a very popular dish in oriente Cuba. The farmers favorite Rice, Pork, Plantains and corn in a yellow rice made in a Paellera. It is definitelly a great deal you will experience a very inusual dish made by an expert.

(pork,plantain,corn)

Farmer Special Paella / Paella Campesina Especial		
<u>Guests</u>	<u>Price</u>	<u>Total</u>
20	16.45	329
30	13.63	409
40	10.98	439
50	9.18	459
60	8.48	509
70	7.70	539
80	7.49	599
90	7.21	649
100	6.95	695

(роткуріантані) сотпу

Seafood Paella / Paella de mariscos		
<u>Guests</u>	<u>Price</u>	<u>Total</u>
20	17.45	349
30	14.30	429
40	11.38	455
50	9.30	465
60	8.08	485
70	7.71	540
80	7.86	629
90	7.54	679
100	7.19	719

This Farmers Rice special is a boost of flavors added to the typical Farmers Rice, Sausage and Ham will make your mouth fall down.

Definitelly one of the best dishes.

(pork, sausage,ham,plantain,corn)

This Seafood Lovers Paella will be the highlight of your event. This fantastic dish contains:
Crab Meat, Mussels, Clams, Fish, Octopus, Squid, Shrimp, Langostins, Scallops, Red and Green Peppers, Garlic, Onions, and Sweet Peas.

	Black Royal Paella / Paella Royal Negra		
	<u>Guests</u>	<u>Price</u>	<u>Total</u>
20		22.95	459
30		19.97	599
40		17.48	699
50		14.98	749
60		13.82	829
70		12.99	909
80		11.99	959
90		11.10	999
100		11.00	1100

	Meat Lover's Paella / Amante a la Carne		
	<u>Guests</u>	<u>Price</u>	<u>Total</u>
20		16.45	329
30		13.63	409
40		10.98	439
50		9.18	459
60		8.48	509
70		7.70	539
80		7.49	599
90		7.21	649
100		6.95	695

Galician Rice/ Arroz Gallego		
<u>Guests</u>	<u>Price</u>	<u>Total</u>
20	15.95	319
30	11.97	359
40	10.48	419
50	8.98	449
60	7.98	479
70	7.13	499
80	6.86	549
90	6.43	579
100	6.39	639

Chicken and Rice / Arroz con Pollo			
Guest	<u>s</u>	<u>Price</u>	<u>Total</u>
20		14.95	299
30		11.63	349
40		9.98	399
50		8.58	429
60		7.48	449
70		6.79	475
80		6.61	529
90		6.10	549
100	_	5.99	599

Calamri Ink Black Paella. This dish contains
Fish, Calamari, Mussels, Clams, Jumbo
Shrimps, Sea Scallops, Langostines, each plate
is served with a half of a lobster tail. This dish
could contain spanish sausage at your request
for no additional charge.

This Dish will take your Meat lover guests to another level with the combination of different meats like, Pork, chicken, spanish sausage, Bacon, Meat chunk and ham.

This dish is made with chicken cuts and spanish sausage along with traditional spices and our own seasoning that gives it a unique experience.

Our chicken and Rice Paella could also be made Chorrera Style and even add valencian Rice at your request for \$30 extra if you preffer this rice. Also could be made boneless for \$1 pp more, and white meat only for \$2 pp more.

Vegetarian Paella / Paella Vegetariana		
<u>Guests</u>	<u>Price</u>	<u>Total</u>
20	14.95	299
30	12.47	374
40	9.98	399
50	8.58	429
60	7.48	449
70	6.79	475
80	6.24	499
90	6.10	549
100	5.95	595

Pasta Station / Estacion de Pastas		
<u>Guests</u>	<u>Price</u>	<u>Total</u>
20	17.45	349
30	14.97	449
40	12.48	499
50	10.98	549
60	9.98	599
70	9.27	649
80	8.74	699
90	8.32	749
100	7.99	799

Premium Pasta Station / Estacion de Pastas		
<u>Guests</u>	<u>Price</u>	<u>Total</u>
20	22.45	449
30	18.30	549
40	14.98	599
50	12.98	649
60	11.65	699
70	10.70	749
80	9.99	799
90	9.39	845
100	8.99	899

В	Barbecue Station / Estacion de Barbecue		
	<u>Guests</u>	<u>Price</u>	<u>Total</u>
20		22.50	450
30		18.33	550
40		15.00	600
50		13.00	650
60		11.67	700
70		10.71	750
80		10.00	800
90		9.44	850
100		9.00	900

It's the healthiest Dish on the menu prepared with quality treated vegetables, yellow squash, suquini squash, egg plan, sweet peas, carrots, green beans, broccoli, coliflower, tomatoes, and other goodies that will make this dish expectacular. No meats or dairy added to this dish

A unique experience activity for your guest. You will have a chef cooking pasta in front of your guest, single servings with your favorite toppings. Select tree meats from the list and ten toppings, white and red sause two types of pastas, we included palmessan cheese in this selection

A full selection 15 toppings, great selection of 5 different meats from our variety, two types of pastas, white and red sause, palmessan cheese and mozzarela cheese, along with a outstanding service from our professional chefs

Price Based on one serving per person:

Corn, Baked or sweet beans, Chicken, Pork, meat, cole slaw, onions, Peppers, and much more!

Premium BBQ Station/Estacion de BBQ Station				
<u>Guests</u>	<u>Price</u>	<u>Total</u>		
20	30.00	600		
30	23.33	700		
40	20.00	800		
50	18.00	900		
60	16.67	1000		
70	15.71	1100		
80	15.00	1200		
90	14.44	1300		
100	14.00	1400		

Chinese Rice / Arroz Chino				
<u>Guests</u>	<u>Price</u>	<u>Total</u>		
20	15.45	309		
30	11.30	339		
40	9.48	379		
50	8.58	429		
60	7.98	479		
70	7.27	509		
80	6.86	549		
90	6.61	595		
100	6.49	649		

Royal Paella / Paella Real

Price

22.95

Total

459

Guests

20

30	19.97	599
40	17.48	699
50	14.98	749
60	13.82	829
70	12.99	909
80	11.99	959
90	11.10	999
100	11.00	1100
Royal Paella Wh	nole Lobster/ Pa	aella Real LC
<u>Guests</u>	<u>Price</u>	<u>Total</u>
Guests 20	<u>Price</u> 45.90	<u>Total</u> 918
20	45.90	918
20 30	45.90 39.94	918 1198.2
20 30 40	45.90 39.94 34.96	918 1198.2 1398.4
20 30 40 50	45.90 39.94 34.96 29.96	918 1198.2 1398.4 1498
20 30 40 50 60	45.90 39.94 34.96 29.96 27.64	918 1198.2 1398.4 1498 1658.4
20 30 40 50 60 70	45.90 39.94 34.96 29.96 27.64 25.98	918 1198.2 1398.4 1498 1658.4 1818.6

A 3-hour all you can eat gourmet feast! The chef cooks live and you are able to choose anything you want from our selection.
Chicken, Steaks (several cuts), pork, corn,
Onions, peppers, yellow squash, suquini squash, egg plant, and much more

Our Chinesse Rice is really good. Its the typical Fried rice made with your favorite ingredients such as shrimps, chicken, eggs, green onions, bean sprouts, sweet peas, carrots, ham, cured pork and much more...

Variety of seafood: Fish, Calamari, Mussels, Clams, Jumbo Shrimps, Sea Scallops, Langostines, each plate is served with a half of a lobster tail. This dish could contain spanish sausage at your request for no additional charge.

Variety of seafood: Fish, Calamari, Mussels, Clams, Jumbo Shrimps, Sea Scallops, Langostines, each plate is served with whole lobster tail. This dish could contain spanish sausage at your request for no additional charge.

Executive Paella / Paella Ejecutiva					
	<u>Guests</u>	<u>Price</u>	<u>Total</u>		
20		74.95	1499		
30		69.97	2099		
40		64.98	2599		
50		60.98	3049		
60		56.65	3399		
70		53.56	3749		
80		50.61	4049		
90		47.77	4299		
100		45.49	4549		

Is simply the most expensive Paella in the World but the finest and most delicious you have ever tried before or money back. Made with organic Ingredients, hand selected never frozen seafood, worlds finest joe's crabs and shrimps. delicate seasoning colored with pure saffron and very fine spices, including premium fine sea salt.

Combo dishes

Grilled Chicken Breast serve with cut potatoes and butter and steam vegetables	\$8.95 Min. 25
Lasagna dish serve with steam vegetables and garlic rolls	\$7.95 Min. 25
Gnocchi with Roasted Pepper sause served with garlic rolls	\$9.95 Min. 25
Churrasco Steak serve with white rice, black beans and plantains	\$16.95 Min. 25
Vaca Frita served with rice, black beans, plantains	\$9.95 Min. 25
Aiis Relleno de Picadillo de carne o pollo	\$10.95 Min. 25

Whole Pig Baked / Puerco Entero Orneado				
<u>Guests</u>	<u>Price</u>	<u>Total</u>		
20	25.95	519		
30	20.63	619		
40	18.73	749		
50	16.98	849		
60	15.48	929		
70	14.27	999		
80	13.11	1049		
90	12.77	1149		
100	11.99	1199		

Our Porks are slow cook and seasoned with the worlds best Caja China Seasoning. We please your likes in this one. Toasted, Crispy, soft, etc.. How ever you want it we make it. Serve with Moros, salad, bread, Yuca and Maduros

Phai thai Station / Estacion de Phai thai				
Guests	<u>Price</u>	<u>Total</u>		
20	20.00	400		
30	15.63	469		
40	13.73	549		
50	11.98	599		
60	10.48	629		
70	9.56	669		
80	9.11	729		
90	8.88	799		
100	8.29	829		

In this occacion we transport our selves to thailand and serve their famous dish El Rey de la Paella Style serve with jumbo shrimps, scalliots, babe corn, chicken, garlic, thai sause, peanut sause, bean sprouts, chives, onions, brocolli, and much more. This is a dish to remember.

Very Important to Know:

On December 17 there is a \$100 additional per staff (Chef, Waiter, bartender, etc..)

working your event

On December 24-25 there is a \$200 additional per staff (Chef, Waiter, bartender, etc..)

working your event

On December 31- there is a \$200 additional per staff (Chef, Waiter, bartender, etc..)

working your event

On January 1- there is a \$150 additional per staff (Chef, Waiter, bartender, etc..) working your event

Waiter Services on a 4 hour bases is \$125 Bartender Services on a for hour bases is \$150

Any additional hour is \$25 per hour

Private Chef Fee is \$50 per hour minimum of 3 hours

To Place your Order please Call:

Dennis Fernandez 786-546-2052

Aileen Fernandez 305-728-9916

or

elreydelapaellacatering.com elreydelapaella1@gmail.com Make it a Valencian Imperial Paella for only \$25 extra shredded cheese melted all over it.

Make it a Farmers Rice Paella for Only \$25 extra shredded cheese melted all over it.

Make it a Farmers Special Paella for Only \$25 extra shredded cheese melted all over it.

Make it a Seafood Imperial Paella for Only \$25 extra shredded cheese melted all over it.

Make it a Meat Lover's Imperial Paella for only \$ 25 extra shredded cheese all over it

Make it a Galician Imperial Rice Paella for only \$25 extra shredded cheese all over it

Make it a Galician Imperial Rice Paella for only \$25 extra shredded cheese all over it

Make it a Galician Imperial Rice Paella for only \$25 extra shredded cheese all over it

Make it a Galician Imperial Rice Paella for only \$25 extra shredded cheese all over it

Make it a Galician Imperial Rice Paella for only \$25 extra schedded cheese all over it

Make it a Galician Imperial Rice Paella for only \$25 extra schedded cheese all over it